All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

www.aiimsraipur.edu.in
Date: 16.06.2021

02/NIQ/EE/AIIMS/RPR/2021-22

NOTICE INVITING e-QUOTATION

The Executive Engineer (Civil), AIIMS, Raipur on behalf of Director, AIIMS, Raipur invites online **Percentage Rate bids in single bid system (Technical cum Eligibility & Financial**) from the supplier for the following work(s):-

(a)	Name of Work	"Supply of Plants under SAP (2021) for horticulture work at AIIMS Raipur"
(b)	NIQ No.	02/NIQ/EE/AIIMS/RPR/2020-21
(c)	Contract Period	10 Days
(d)	Estimated Cost	Rs. 2,46,393.00
(e)	Earnest Money Deposit (Mandatory to submit EMD Declaration Form.)	As per Annexure -B
(f)	Tender documents may be seen on	AIIMS web site www.aiimsraipur.edu.in and CPPP site https://eprocure.gov.in/eprocure/app
(g)	Last Date &Time of Submission	By 22.06.2021 UP TO 11:00 Hours through online.
(h)	Date & Time for opening of Technical & financial Bid	On 23.06.2021 at 11:30 Hours.

Terms & Conditions:

- 1. The **first and final bill** payment will be done after completion of work as per specification.
- 2. Labour Laws to be obeyed by the Agency and the rate is inclusive of all taxes.
- 3. Percentage rate Schedule of Quantity attached in CPP Portal.
- 4. **Time allowed for the completion of the work is 10 days**. It will be reckoned from the day award of the work. If the agency not completed work within 10 days <u>LD @ 0.5%</u> per week of delayed contract value subject to maximum of 10% of delayed contract value will be deducted.
- 5. **Security Deposit @2.5**% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 6. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.
- 7. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.

8. The work will be done in a running hospital, hence the work to be done as per the rules and instructions of Engineer-In-Charge. All the conditions of work at site are applicable to the successful bidder.

1. Eligibility of Bidders

- (a) All eligible bidders meeting the eligibility can participate in the tender. The applicant should be a private or government-owned legal entity;
- (b) For package size exceeding certain values [say Rs. 10 (ten) Crore], Joint Ventures may be allowed. Maximum number of partners in Joint Ventures shall be limited (say three). In case of Joint Ventures, all the partners shall be jointly and severally liable for the successful completion of the work;
- (c) A firm that has been engaged by Ministry/ Department to provide consultancy services for the preparation or implementation of a project, and any of its affiliates (associates, Subsidiary, Joint Ventures partner), shall not be eligible for subsequently providing goods or works (other than a continuation of the firm's earlier consultancy services) for the same project;
- (d) A firm determined non-performing by the Procuring Entity shall not be eligible to bid during the period so determined;
- (e) The bidder must not have in his employment:
 - a) The near relations (defined as first blood relations, and their spouses, of the bidder or the bidder's spouse) of persons involved in decision making in the procurement.
 - b) Without Government permission, any person who retired as gazetted officer within the last two years of the rank and from the departments.
- (f) Goods and services Tax (GST)

2. Signing of bid document:

- **a)** If the bidder is an individual, the bid shall be signed by him above his full type written name and current address.
- **b)** If the bidder is a proprietary firm, the bid shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the bid shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- **d)** If the bidder is a limited company or a corporation, the bid shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

List of Mandatory Documents to be filled in by the bidders in various forms to be scanned and uploaded within the period of bid submission

1	Vendor Details as per (Annexure-A)	
2	EMD Declaration Form (Annexure – B)	
3	GST Registration certificate	

FORM FOR DETAILED INFORMATION BY BIDDER (Vendor Details)

1.	Name of the Bidder	
2.	Permanent Account No (PAN)	
3.	Particulars of Bank Account	
	a) Name of the Bank	
	b) Name of the Branch	
	c) Branch Code	
	d) Address	
	e) City Name	
	f) Telephone No	
4.	Legal status of the bidder (attach copies of original document defining the legal	
	a) An Individual	
	b)A proprietary firm	
	c)A firm in partnership	
	d)A limited company or Corporation	
5.	GST Registration Certificate No	
6.	Valid Email ID of the Bidder	
7.	Complete Postal Address of the bidder	

Seal & Sign of Contractor

EMD Declaration Form

Date:

To,

Executive Engineer,

All India Institute of Medical Sciences Raipur (C.G)

Ref: 02/NIQ/EE/AIIMS/RPR/2021-22.

Dear Sir,

I/we accept that I/We may be disqualified/debarred from bidding for any contract with you for a period of one year from the date of notification, if I am /We are in a breach of any obligation under the bid conditions, because

I/We

- a) have withdrawn/modified/amended from the tender, my/our Bid during the period of bid validity specified in the NIT; or
- b) having been notified of the acceptance of our Bid by the purchaser during the period of bid validity.
 - i. fail or reuse to execute the contract, if required, or
- **ii.** fail or refuse to furnish the Performance Security, in accordance with the Instructions to Bidders

The validity of this declaration will remain till the announcement of the name of the successful Bidder & if, I am/we are not the successful Bidder.

Yours faithfully,
(Signature of Bidder with seal)

Schedule of Quantity							
Name	of Work: Supply of Plants under SAP (2021) for horticulture wo	rk at AIIM	S Raipu	ır.			
I. No.	Particulars	Quantity	Unit	Rate	Amount		
1	Supply and stacking of Plants, well developed healthy disease free plants etc. as per instruction of Engineer - In- Charge.						
	AIIMS Campus Raipur						
1.1	Mango ((Height 6-7 feet))	50	Each	600.00	30000.00		
1.2	Guava (Height 6-7 feet)	30	Each	600.00	18000.00		
1.3	Mausambi height6-7feet	30	Each	600.00	18000.00		
1.4	Lemon Kagji (Height 6-7 feet)	25	Each	600.00	15000.00		
1.5	Orange (Height 6-7 feet)	30	Each	600.00	18000.00		
1.6	Amla (Height 6-7 feet)	30	Each	600.00	18000.00		
1.7	Seetafal (Height 6-7 feet)	10	Each	600.00	6000.00		
1.8	Ram Fal (Height 6-7 feet)	10	Each	550.00	5500.00		
1.9	Jack Fruits Hybrid (Height 6-7 feet)	30	Each	600.00	18000.00		
1.10	Chiku (4-5 feet)	50	Each	475.00	23750.00		
1.11	Anjeer (6-7 feet)	30	Each	600.00	18000.00		
1.12	Lichi (5-6feet)	20	Each	550.00	11000.00		
1.13	Anar (6-7feet)	10	Each	600.00	6000.00		
1.14	Falsha (4-5feet)	10	Each	250.00	2500.00		
1.15	Banana (2 feet)	10	Each	60.00	600.00		
1.16	Providing and Displaying Golden Bottle brush Topiary well developed with fresh & healthy foliage 5 to 6 big ball 115 to 180 cm ht in 40 cm Cement Pot as per direction of the officerin-charge.	10	Each	973.75	9737.50		
1.17	Providing and stacking of Tabernaemontana coronaria	50	Each	55.00	2750.00		
2	Supply of M.s. display board of size 200mmx 400 mm made of 2mm thick ms sheet with 0.90 m long 10 mm bar backing with stand & including primer painting all complete as per direction of Engineer in charge	50	Each	320.00	16000.00		
3	Supply and pasting of Retro reflecting radium sheet in required nomenclatures and size, shape ,color all complete as per direction of Engineer in charge	4	Sqm	1398.80	5595.20		
4	Supplying and stacking of well decayed cattle manure at site including royalty and carriage complete (Cattle manure measured in stacks will reduced by 8% for Payment).	16	Cum	247.50	3960.00		
				Total	246392.70		
				Say	246393.00		